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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Departmental Test for the Ministerial Staff
Name of the of the Department of the Economics and | 075
Test: Statistics (Without Books)

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qaren@mM eusnHd eNETTHST6T

' Read the following instructions carefully before beglnnlng to answer the
questions.

MeamésEnsE ol iweldss QFTLRIGD (P61 SD&setL g;gf)lsumr;r&,mm&.
SHEUGTIONSL L.5&H6YLD.

1. This computer based Test contains 100 number of questions in objective

Type.
Qiss safean aulfls Caieumsarg, 100 QaTen@GH ausmEUNeoMss e dHeenend

Q& TERIL_G).

2. Answer all questions. Each question carries one mark
Simeds NamssEps@GL el alssald @eitaurm aﬂmrreqm (05
L AICILIGT 2 ML ILIG). -

3 In case of doubt, English version is the Final.
elennsseilcy #HCaHaL  @EoUlsr ShrHe algealsd Qar@aHesiul(Berern
eNeuréaGent @miHimerg.

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Ans eNearéseflsy GLb Qubmister gyen UTeSlardHauflsll UTTHMSHaM60
Coemauiliged, SHLMISCHHU  Quen  uTedargseuflet  UTTHMSHEHLD
SiLRIGLD.

5. Before answering the guestions in CBT, candidates should read the following
instructions displayed in the monitor:
efemeliLgnyiser saNell aufls CojalnE oL wealsss QSTLRIGLD
st safeiusdr  Heanquiled  Cameimild  SIMEUHISHENET  HeGUIDTEL
Lilg & e6YLD.

a) One question will be displayed on the screen at a time.
@Cy Crr5Hed @ alerm LLGCL &Hansld Hampulled CHTETMILD.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display



The Statement, “Statistics is both a science and an art”, was given by:
“Larafluiwed gem oiflefiued whpith sme” eremy & bluie.

(A) R.A. Fisher
R.A. Qegas

M Tippert
g UL
(C) L.R. Connor

L.R. smetre

(D) A.L. Bowley
A.L. Quered

Who originally gave the formula for the estimation of errors?
wdiGseflar Yampsstar @sdrsms (pseld FaMWIeUT Wi ?

(A) L.R. Connor (B) W.I. King
L.R. sremnewnit W.I. fln

(C) A.L. Bowley A A.L. Boddington
A.L. Queredl A.L. Gumg L e

If the lower and upper limits of a class are 10 and 40 respectively, the mid-points of
the class is :
o Gfey @eLCaeluler Gued wHpd & edaaser peopCu 10 wHmIDd 40 eafld
209Mey GenQeuaflufer enww wHUL erg)?

r 28,0 (B) - 12:6
(C) 15.0 (D 30.0

Which of the following is a one-dimensional diagram?
GemeupeuareupmieT epuflme euenguL LD 6rg)?

Bar diagram (B) Pie-chart
Ul el eleTdsuLLb el eferdasliLLb
(C) Cylinder (D) A graph
2_(ThenarT QuenyLLLD
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5. If we plot the points of a less than type or more than type frequency distribution, the
shape of graph 1s?

Sfler  sveg Cuedler ees Hapeuar uged yeatefsmer  eumyuL Gl
GN&@GSDLELTHE HenL &G cuayuLSFler aliqailb ererer?

% Ogive curve (B) Scatter diagram
PENGE QUENETEUEH] flgmed euenyUL LD
(C) =zig-zag curve (D) Parabola
sl&-e0mé GUEnTLIL LD LI JEUEDETUILD
6. If a constant five is added to each observation of a set the mean 1is:

em ydraflefeuy Qgm@lifen geaiQeurh e piiyLgib 5 sl iUl rd, Suyearafeiers
Qa6 gymaf erememeum@LD ?

W increased by 5 (B) decreased by 5
5 9flaflgeib 5 GepuLb
(C) 5 times the original mean (D) not affected
5 Lk AS&M&EED LOTHTE

7. The correct relationship between A.M., G.M., and HM is :
AM.,GM., vogd HM g dweaupine Qe wlerer sflwmear Ggmiy

(A) AM=GM.=HM B) GM=>AM. >HM
(©) HM=GM. =AM )ﬁ,ﬁ AM > GM. z HM
8. Extreme value have on effect on:
efefliby wHuysermed Quflgib urdésiiuLngg
(A) Average “ median
gyma) @an_flena
(C) Geometric Mean (D) Harmonic Mean
Qumsse grme @ enss syna
9. The average of the 7 numbers 7,9,12,x,5,4,11 is 9. The missing number x is:
7,9, 12, x, 5, 4, 11 erenp 7 wdHlysefler syred 9 erafléd x -ar wH LI ereer?
(A) 13 B) 14

)@rf 15 D) 8
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10.

11.

12,

13.

14.

The average of 2n natural numbers from 1 to 2n is:
1 pse 2n euepuiener 2n @ue cremsefer symefl ereire ?

n+1 (2n+1)
» b

n(2n + 1)
2 ®) 2

A frequency distribution having two modes is said to be:
Bran® pehser 2 der Smobeud LjaoseT Gaarn SiopssluBEng.

(A) Uni-modal ¥ Bi-modal

@ (WPSL({HL UTeue T @ren® WpaslHU L6
(C) Tri-modal (D) Without mode

P (WP&sLHIL UTeudd WP&hH SiHng

The median of the variate values 11,7,6,9,12,15,19 is :
11, 7, 6, 9, 12, 15, 19 erenp yertelafleurs Ggr@rider Qe _Hlevew oiemay eremes ?

(A) 9 (B) 12

©) 15 y{ 11

The first quartile is also known as :
P& sTOLIED Geueurn SePssLILOEDG.

(A) Median - Lower quartile
@ flene &1p smTeTLd
(C) Mode (D) Third decile
BLEI0) epeTpmd LifleTiomerib

The suitable measure of central tendency for qualitative data is :
srmsear (Qualitative) Hliraruduugh@ OO awwhlemers CuTéE ieTamel erg)?

(A) Mode (B) Arithmetic Mean
LI gal_(D&aryrefl
(C) Geometric Mean )) Median
Qu(mdse grme @enL_Hlenev
5 117/DD/22

[Turn over



15.  Out of all measures of dispersion, the easiest one to calculate is :
Slamed eraaisaiied samsdHeugne aeaflgrear Slgped eTemel 6Tg ?

(A) Standard deviation Range
AL efessid oSéa

(C) Variance (D) Quartile deviation
rmum@ ST alessd

16.  Mean deviation is minimum when deviations are taken from:
Qemeumpeuareupdled  adamhg — wssd  stgud  Qureg  sgrefl  eflesshd

(GHEDEUTRTST(GLD ?

(A) Mean Median
giyma @ flene

(C) Mode (D) Zero
GLEI0) LFSlwid

17.  Which one of the given measures of dispersion is considered best?
Qsrpssliul_perer Hgpd deremaisafldr Apps Semed BaTame eTg)?

Standard Deviation (B) Range
S eflewssid ei&&

(C) Variance (D) Coefficient of Variation
wrouUr® wrpum’ (&6 &L

18. The average of the sum of square of the deviations about mean is called:
srmefeowts  ubdu  Nesstselar  aissnseiar am@gedler syref  ereuaurm

SP&&ELILIHS DG ?
Variance (B) Absolute deviation
wrmur (ppenwrer edlleéEsid
(C) Standard Deviation (D) Mean Deviation
S eflewdsid gyrefl aflevdsid

117/DD/22 6



19. TFor a negatively skewed distribution, the correct relation between Mean, Median
and Mode 1is :
adioen CoriL oerey Qanawe ugeudselier syrefl, @eLfleow wHDID  PSE
AwuapPpeE Gen Guiwirear Qgm iy ererer?

(A) Mean = Median = Mode (B) Median < Mean < Mode
gynefl = @evLflene = Apa&( @en_flaver < aymefl < 1ps@
Mean < Median < Mode (D) Mode < Mean <Median
gyref < @evfleve < Ws&@H s < gyrefl < QenLHleve

20. The Variance of first n Natural numbers is:
Wpsd n Quied ererraafiem wrmUT®H ereer?

n®+1 ®B) (n + 1)

) 12 12
n® -1 e |
;a// L—le O ==

21. In tossing three coins at a time, the probability of getting at most one head 1s
e BIRTLIRISEET @ (PpaD FETHDEUTYE HHEILFD @ S fenLLiughamen
Hl&D&HH6| eTerer ?

(A)
4

22.  From a pack of 52 cards, two cards are drawn at random. The probability that one 1s
an ace and the other is a king 18
52 S @peer Qareml  S_0&sLgd@mps  swaminy  wapl¥ed @ran@ FOsen
ahEsLLEDg. euple germ gev (Ace) .6 wHOprery @rregr (King) &Lns
@muugharar Hapsse| erener?

2 1
@) 3 B

8 16
» = o 2
663 169

(B)

D)

o= oo
w|—= |3

7 117/DD/22
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23.  The probability that a leap year will have 53 Sunday is
G S aumLsHd 53 @D Hpaser alheISHETET Hl&psse) wWng ?

~ 3 0

(D) 52

(©) rrl

=1
co'm

924 For Bernoulli distribution with probability p of a success and g of failure, the relation

between mean and variance that holds is
Qaupésrer Hapsse; p wppb Csraalssrear fspssa; q 2L QuirQermed
Lgeuedled egmed wHmibd LreuhUGsE G Guwrar @Ggmiy ererer?

(A) Mean < Variance ~Mean > Variance
gymef < wrour® gymafl > wrmurH
(C) Mean = Variance (D) Mean < Variance
gymgfl = wrmUT@H gymef < wrmur

95  The mean and variance of a Binomial distribution are 8 and 4, respectively. Then,
P(X =1) is equal to
& FEHDICILL ureuald syrafl 8 whoib wryuT@ 4 aafld P(X =1) e wiiy erémen?

s o &

1
© 2 D) =

26.  An approximate relation between M.D. about mean and S.D of a normal distribution
18
QueBlemeor  ugeuedld graf Nasasdnen (M.D), AL elasasdp@n  (S.D)
@enCuuwner Cgmymuwrer GgmfLy erear?

/& 5M.D=4S8.D (B) 4M.D=5S8.D
(C) 3M.D=3 8.D (D) 3M.D=28.D

117/DD/22 8



27.  Ifn, the sample size is larger than 30, the student’s t-distribution tends to
ordfseller aamafléms n,30g L SiFs0T6 @m&EnAunpg student’s t-uyeue
GTEITENT LITEUGLTE LOMMILD ?

Normal Distribution (B) F-Distribution
@udBlaels Lireue F - ugeudd

(C)  Cauchy Distribution (D) Chi-square distribution
smadl LFeued & QUGS LITeU

98  For n>4 and n<30, the t-distribution curve with regard to peakedness is

wréfsefer cramanfléans n>4 wHHID n<30 eran @m&EDAUTYE student’s t-uyaualien
QUlgGULD ETEITETEUM(GLD ?

(A) Mesokurtic (B) Platykurtic
Quesl L Blensdss e

0 Leptokurtic (D) Bi-modal
GODEHSHL L @ psbh - wgl

929.  The shape of Chi-square distribution curve ford.f1or 2is
sl geTenll Uiy 1 SOg 2 2@ & auissL Lreuedler GllqeUD GTese ?

(A) aparabola }B{ a hyperbola
(1 LITeUEETUILD @ SFLTeuemeTwid

(C) a dJ-shaped curve (D) a bell-shaped curve
J-augeud 2 L wg el algeud 2 L uig)

30. The skewness of a binomial distribution will be zero if
RO ugeuale) CamiLgdle wduiy yslwid erafled

1 1
(*) p< b B) p> 3
1
N »- : D) p<aq
9 117/DD/22
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31. In 1933, the theory of testing of hypotheses was porpounded by
1933 b () aHCaner Carganar updHw Cam_urhsmer (perameadgeul

(A) R.A. Fisher (B) J.Neyman
R.A. Y6gagT J. GpLoer

(C) E.L. Lehman Karl Pearson
E.L. Geowmetr &ty 1Glwireesr

32.  The range of statistic- z* is
7en aiés
(A) -1to+1 B) —x tot+

)pfm;om (D) 0tol

|
33. If p =1, the angle between the two lines of regressions is
p =1 aafled, @m 2 Lar Qgriiy Carda@Erse @eL L Garemrd

Zero degree (B) Ninety degree
L&l wibd Qgmergymmi

(C) Sixty degree (D) Thirty degree
SHADLG) UG

34. Regression coefficient is independent of
o et Qgriy Cuné@aba(peunarg sTuHDE ?

" Origin (B) Scale
< Slullev SjeTeliL g 6d
(C) Both origin and scale (D) Neither Origin Nor Scale
< d wHmb Sjerel® @ readTigeb < S| Gevene, jeTe|b Gleame

35. If the two lines or regression are perpendicular to each other, the relation between
the two regression coefficient is

Qs eLer Qgriiy Carhser pamsdarean Qem@ss eafle, @@m o Len Q&
Caml &0sp&sens@ @ Cuurear CgmLiy ererer?

(A)  Byx = Bxy 2) Prx = Bxy =1

© B < v I b= P

117/DD/22 10




36.

37.

38.

40.

If Var(X + Y) = Var(X) + Var(Y), then the value of correlation coefficient r,, is
Var(X + Y) = Var(X) + Var(Y) arefléd, @l Gpeyd Qapedlen r,, iy erarer?
0 B) 1
) -1 (D) 0.5
If Var(X +Y)=Var(X -Y), then the correlation between X and Y is equal to
Var(X +Y)=Var(X-Y) eaafld, X,Y&s Qo Cuurear gU@pas Cseldr wdliy
GTGHTGUT ?
il
@ 1 B =
2
1
0 oK
©) .
Degrees of freedom for Chi-square in case of contingency table of order (4 x 3) are
(4 x 3) aflens QararL s eaiissl LTeud Gsieyl Ligweler sligeamenls Ligsefler
GrafTanTl&end GTeTen ?
(A 12 B) 9
© 8 6
A Cyclist pedals from his house to his college at a speed of 10 km.p.h. and back from
the college to his house at 15 km.p.h. Find the average speed?
enar sag Bfauanguian efliydmps so@riéeg 10 &.85/weell  Ceussdlayid,
sogrfllembs i@ 15 &.8/wafl Caussdaib Ceadp aafld sjeuflen symefl
Geussid eresres ?
))rf 12.0 km p.h. (B) 12.5km.p.h.
12.0 &.15/wenfl 12.5 &.15/wewnf
(C) 13.0 km.p.h. (D) 14.0 km.p.h.
13.0 &l.18/wenfl 14.0 &.10/wemnf

The limits for Karl Pearson’s coefficient of skewness are
sroGurger Car L&0speller erédepevser ereen ?

A =1 B) +2

)(:/ +3 (D) +4

11 117/DD/22
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41.

42.

43.

44.

The point of intersection of the “Less than” and “More than” ogive corresponds to
@ Lgaueder Sler eueri wHOID Guelar auar genseusar Qeul B LéTafl ?

(A) The Mean ” The Median
gyma @ enL_Hlane

(C) The Geometric Mean (D) The mode
Qu(psse syrafl L0

A Single letter is selected at random from the word “PROBABILITY” the probability
that it is vowel 1s

“PROBABILITY” eraémp euniseguiedmbg — Fweumiuy wpoplid @m  TWwHs
Csip0s@ss LbAng. CsipEsdssiuiL  Tps 2 WQyssTE  QEHLULSHSTET

H&psea| eTerme ?

13 2
@ 7 B 7

4
/@'5/ = D) 0

The mean of Poisson variate 1s
umigrer ureueder gyrefl-

(A) greater than it’s variance (B) less than it's variance
wrgur e eflL Sigsid wrpurlaL &Sl G®nay
% equal to it’s variance (D) twice, it’s variance
LIYUTL g D& FLOL wrgyurt el Gurery @HLLBIE

Two random variables X and Y are said to be independent it
X wpmb Y eréruer @ sriupm soeumiuy rH&eT eresfle

(A) E(XY)=1 (B) E(XY)=0
E(XY)=1 E(XY)=0
)d E(XY)= E(X)E(Y) (D) E(XY)=any constant value
E(XY)= E(X)E(Y) E(XY) = gGsaud @b wrdled

117/DD/22 12



45.

46.

47.

48.

49.

The points of inflections of Normal N (m,o-z) curve are

QuieBlenars Ligeualien N(m,crz) cuenere] rHML LeTeflsar?

% mtao B) mzt20

C) mz30c D) mi-i-a

If X is a random variable, E(e”‘) is known as

X ereiigl sweumiii ol erefled E(e"‘) GTGITLI GTGITGYT ?

(A) Characteristic Function
AorGwueys ey
% Moment Generating Function
sl QUmEEGSESTMSs 2 (HeuTd@Gh &mry
(C)  Probability Generating Function
Bepsse) ApLIGEED &y
(D) Probability density Function
Hspssa; L TEHE e

If A and B are two events, the probability of occurrence of either A or B is given as
A wppib B ereruar gGsanb @@ Hepsdlsdr aafld, A b B flapeughsmen
H&p&s56| eraugl ?

A)  P(A)+ P(B) /B( P(AU B)

©) P(A~ B) (D) P(A) - P(B)

The Mean of Chi-square distribution with n d.f. is
n sl gareniol Uiy QErame enselidheLU] ugeuedenr gymafl ereer?

(A)  2n (B) n?

(C) n /afn

The standard normal distribution is represented by
AL GudBlenels uraerag ereueurn GH&sILGEHDS ?

(A N(@©,0 B N@© 1

/ﬂ’ N (0, 1) D) N(1,0)

13 117/DD/22
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50. The g,value of Normal Distribution is
QudBleers Lyeuald A6 SILIL| eremer ?

5 p=3 ®) f, =2

(C) 182 =1 (D) ﬂ2 =0

51. Who is called “Father of Indian statistics™
@pdw yearafllwedar shargstuar Sapssliubia wmi?

(A) C.R. Rao _@7 P.C. Mahalanobis
C.R. @gmeu P.C. wapeCpmien

(C) P.V Suhathmey (D) Sir Ronald A. Fisher
um.eur.&&TEGLD & Qureme® er. ey

52 Statistics is “the Grammer of Science” definition given by
LerefluduGe oiflafwellen Qassanmb erem) eNeTésd SHHEUT WImT?

(A) A.L. Bowley (B) Boddington
A.L. Queredl Guimig et

(C) Croxton /ﬂ{/ Karl Pearson
HyréevLe &ired 1Gwireen

53. What are types of Data?
srasaflen euamsseT WTenal ?

(A) Bigdata (B) Primary data
Qu(BLD BT |&S6T padFlme Sre|seT

(C) Secondary data Both (B) and (C)
@uermib Hlene Hya|sHeT (B) wpmid (C)

54. Data classified as country, State, District and Town is called as
greysemar  BrH, WrHleb, WwreLLD Hmib BETL e eostlie  amslupSSID
penpuller Quui

(A) Chronological classification /84 Spatial classification
smelb &M aua&sLIUH SISO @)L & s ILHSSHBD

(C) Qualitative classification (D) Quantitative classification
LeTL &1 euensLliL(hSS S Sereiler ppeld euenslIubH SIS

117/DD/22 14



55.

56.

58.

L

The degree of pie diagram
Ul L eflaréaliL_gdler Camem 2earey erelelaTe,?

A) 90° (B) 140°

(©) 180° ,a?ﬁ’ 360°

What is the formula for weighted arithmetic mean is
Heopuldl L el B\& syrafulier @& Elyb ereer ?

_ 2w, WER . .
== SESERRE B S EE
% . Tw; & n
(C) G.M. gx,x,--x, D) xw-= Ez——u—)*—
w
Set of observations is their sum divided by the number of observations is called

sreflan e e QUILsmeTD smlly g epUiyselldar aaramismaund aG55E
Hev_LiLg) 618 ?

(A) Range (B) Mode
e Fan L)

(C) Median - Arithmetic mean
@ enL_Blencvuwiere| gnl_(H&ayra

20 students secured the marks in statistics are 90, 50, 30 ,40, 86, 65, 73, 68, 90, 90,

10, 73, 25, 35, 88, 67, 80, 74, 46. Find out the mode.
Lareflufwied LT gdléd 20 wrameuigdr GQuHD WLHLGLBTEET wpepCGu 90, 50, 30 ,40, 86,
65, 73, 68, 90, 90, 10, 73, 25, 35, 88, 67, 80, 74, 46. @aupPler (p&H &HTEwS.

(A) 10 (B) 173

C) 86 )2/( 90

Which is the most stable measure of central tendency?
Spsarr_aupdle erg Ba Fleewrer ewwliGUTEHE SeTame ?

(A) Quartile deviation (B) Mean deviation
&TGVLD TG MBI HET gyngfl efle&asd
(C) Standard deviation Mean
S eflevssd gymei
15 117/DD/22
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60. Co-efficient of variation
S elesassder wrpum’ H&@s@p eeieurmy QupriubEmg) ?

(A) X :n xX %gxIOO
b

©  yimxF g e

61.  Curve is flatter than normal curve is called as
@@ euametauay @QudBle cuamerauamramu ol s leLwns @ mbsTe ereueumm

SDLPLUILIG)

(A) Lepokutic (B) Mesokurtic
GODSHL_ L @enL_ s anl_

/Zi Platykurtic (D) Kutic
HlensssL_enL SLELUIeTE

62. Normal curve is
@ueflenels LiTeuelen euaneTeuaTWITETE 6ThHe euigeile) o aTarg)?

- Bell shaped (B) Multiple bar diagram
wenflalig e cuaneTeLan| UesL L UL L efleTéaiLL b
(C) Bar diagram (D) Pie diagram
sl anl efleTé&sL LD el L efler&asLliLLb

63. Skewness means
CamlL 26T eTemLig)

(A) Kurtosis Lack of symmetry
&L GOL_UIETE Camhmweensg)

(C) Normal (D) Symmetry
@uieyblene @Gy Gamhmib

64. Celebration of world statistics day is
o s Lerafu@we Sand erpprefier Garamm Lu@EDg ?

(A) January-26 (B) June-5
soaeuifl-26 870G~ 5

(C)  October-16 October-20
&GLTUm-16 &BLmuim-20

117/DD/22 16



65.

66.

67.

68.

69.

If mean #median=mode, the distribution is
gynefl » @eLHlevew # P&E TeUEUME LITEIE

(A) Average (B) Normal
gyma @ue| Hlerew
Skewed (D) Symmetry
CarlL 3eTey pem FihG BeT6

Probability lies between
Hlapsaaier Qe LUl HeTa| 6Tg)?

A 001 (B) -1to+1

(C) Oto« (D) o

The two parameters of the binomial distribution are
FHDILILL UFeueller @ream® LehmLaTaneusaT eTena ?

A) p&a 0 & p

(®) prar (D) pq"

Poisson distribution applies to
umigrer Lyeuedler Gawdapemn ergl?

(A) Repeated events Rare events
24 &61g BLEGD FlsDss6, <flu Hapeser

(C) Indepedendant events (D) Impossible events
seelFamauwiner Hl&phe &6 penLQup pigwns Hlephe &6

Who is the pioneer of “t” Test?

i« »

g ugeuedler (perGenmg. wimi?

(A) Karl Pearson (B) P.D. Laplace
e Gwireesr 9. 4. CavLieomaiv
(C) S.R.A. Fisher William S. Gosset
TG, < (T.6T. LI eflevedlwiib.erev. Camma
17 117/DD/22
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70. The mean of chi-square distribution is
DLGms mealiss Cengamenier syrefl erere?

(A)  2n ﬂ n
(C) n? (D) 8n

71.  Mean is always greater than the variance
s auiss syrefewed syref erriGUIgD sn(HOME @HEESD-

/r{ Binomial Distribution (B) Normal Distribution
FHOILILL UJeUE Quaoblene LITeue
(C)  Pascal Distribution (D) Poisson Distribution

LITe&E) LITeUe) LITEVEFTET LITEUe6D

72.  Line of regression is
> LanQgriy CriGar( ererLg)

(A) Y=ax+b MY=a+bx

©€) Z=/kx D Z=/(xy

73 Which is the simplest way of the diagrammatic representation of the bivariate data?
G wrhsmerd CsTaET_ HreismeT LLR&ET ppelb eferd@h eaflu (pap&E Quwirr

GTGHTET ?
(A) Histogram (B) Bar diagram
Lreued QEcueusiuL LD Ul L efleTdsliuL b
/@4 Scatter diagram (D) Pie diagram
Hgpe eflerdsliL LD cul_L euige edlemésliiL LD

74.  Null hypothesis is usually denoted as
@aenio &([HGGCHTD QIPESLONS GNudpeug gl ?

Progt ®) H,

(€) H, D) H,

117/DD/22 18



76.

7.

8.

Which test plays a very important and fundamental role in design of experiments in
agriculture statistics?

Gouerramreniots Larefuduied LNGengmansar ewULSD 6hg alams Cengenan (p&&lw
LItk udlEEng).

~ F — Test B) t-—Test
erl1-Gangener t-Cangener

(C)  Chi-square Test (D) z-—Test
DL E0s m&alTss GCargemer z-Cengenen

Which distribution is used to find out the 400 printing mistakes in a book containing
1000 pages?

1000 LssHEMETE QaTaiL @ Lssssdd 400 Yepsdr o eTerar aafle, Yeppsanar
serTL_Mwil Lweru(ib UFeuUpED eTgl?

Poisson Distribution (B) Binomial Distribution
LTUISTET LIJeueL FFEHMILIL L LITEeD

(C) Normal Distribution (D) F — Distribution
@ueblene LiTeued GTLI-UTeIe

For two tailed test with 5% level of significance. Critical value of “Z” will be
@mapanps Cengamanie 5 speildls saflgpamp Apride, “Z”euenyuianm Hlene i erarer ?

(A) 2.58 ,6&*41.96

(C) 1.645 (D) 1.28

Mathematical Measure of the average relationship between two or more variable 1s
Grean® Sideg 2sHE GCohuLL wrhsefer @armsCareanm e Cuiwirer QgmLmSeer
SITUIGUSDHE LWeTU(HID ieTay eTg)?

(A) Correlation Regression
L (Hmey o L ergmiry
(C)  Correlation Co-efficient (D) Regression Co-efficient
@l Opey GsTrys0swW o L a@grLi&0sp
19 117/DD/22
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83.

80.

81.

82.

®
The word “statistik” originated from which country?
“evCLigevigs” eTemm Q&med erbg BB Qardena aporsTrLTsEs ClETaTL g).
(A) Lati_n . (B) Italy
Bapen Bsnad
(C) Greak German
$Cr&ab Qggrnaf]
The diagram of continuous rectangles is called?
Qgmit Cecueus uapTUL S ETeUaUTm BIMLPLILIZ)?
,@;f Histogram (B) Bar diagram
Lipeue GFeueusliLL LD UL 6L eUenyLIL LD
(C) Pie diagram (D) Straight line
UL GuUenyLILLD auffl euenyuLLD
The distribution is said to be mesokurtic if £, =

Qe gsl e ugeualled B, = eflem L eremer?

5 3 B) <3

(C) =3 D) 0O

A bag contains 3 red, 6 white balls and 7 blue balls. What 1s the probability that two
balls drawn are white and blue?

e s wle 3 deaiiy, 6 Qeudtener WHYID 7 2AIFT LHSISET 2 GTETET. @eupdled @) et
Lbaisar aThéE@n Guig Qadienar wHpID earst LbgSET CupeSHETET H&p&&Ee| eTg)?

2 42
A) = %0

2 2
(©) G (D) =

What is the critical value of t-distribution 1s
“o”" Lreueled eauenuam Hlene WL eremen ?

J& -0 B) t«

Q) -t (D) /2

117/DD/22 20



84.

85.

86.

87.

The probabilities of type I error is denoted as
fapssaie Hlaw I sauamp eadoumy @Hludbeg ?

N« B) 7

© P @) |

Who is the founded of F-distribution?
“erl)” Lgeueme SeRTLHBSeulT Wi ?

(A) Cowden George Snedecor
QserL_ei )B( sgmitgh sleflle s
(C) Croxton (D) Karl Pearson
& iymé e e &mired Swimeenr

Which of the following is the prime memory in computer?
Speumeuareuppiar org sexflafiulien wpgeran HlaarausnmEb ?

- RAM (B) Hard Disk
Crirlg. Siegi&e cuets ()

(C) CD-ROM (D) DVD-ROM

Gnieul® lg-681q.-Gymibd

Statistics may be defined as “The science which deals with the collection, analysis

and interpretation of numerical data”

Lerefluwied eremug) erar efleugmaaner CesfiiLg, Sefliug, UEGSSTIE LHDID eflaTésh
sefliiug Gurann Qeudursmens Carer Meflwed @b eTemm snPluieuiger wim?

(A) Boddington (B) A.L. Bowley
Guimig riLebr o.61e0.QueTed
Croxton and Gowden (D) Lovitt
yméevL e wHmD CleeTL e eomeilL

21
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88.

What is the main theme of the 3 world statistics day celebration by UNO?
m&Elw prRsET Fmu eped Qeramm Ll L aperpreug 2 & LeTeaflullwd Fearadlpreder
&S s@mLGLTmET 6Tgy) ?

M Connecting the world with data we can trust

BOUSEGES STOISEHD 2 wEsms Gaamssd
(B) Data for public use
STEU&ET &S @H&GSTET LIWLIGTLIT(h
(C) Data for economy growth
QummeTTg Ty eueTi&s)
(D)  Data quality frame work for data we trust
SILOTET STEU&HET ST BIDUSSH DS SHT6EHETET Bfig LI L WIT@LD

89. Binomial distribution was discovered by
FRROILIL UTeUeney SearL_Mlibgeurm wim?
J. Bernoulli (B) P.D. Laplace
Qleg. G TCGarmed) 19. 1. Cevotigumeiv
(C) S.D. Poisson (D) De-Moivre
GTG. I LI MU TEHT 4@ - Qumuf
90.  One coin is thrown, the probability of getting a head is
@(h Breavwugems sam@pb aumily Cargeanied, soo aleagpsrear Hlapsse
1 ¥
@ q-1 o -1
2 _2
© »-; ® -7
91. The method to assess the characteristics of the whole population from a sampling
unit 1s
puyows QsTEeHulambgl, WS QsregHular uamLsmer Qzfbg Gsmareughans
wirdlflsmer Carhbsh&E P
(A) Census method (B) Sample Unit
WP (pssansla B penpenihg wrfl senfliiy
% Sampling method (D) Judgement Sampling
wrdfl sefliiyepen smbg LA seantliiy
117/DD/22 22



92.  The difference between large values of data and small value of data
srefgierer WauQuAw whpid WasHu e piiysEpdHaL Gu o drer NgHwnsd erg)?

" Range (B) Mode
eligar L)
(C) Median (D) Mean
@eLflevewere, gymail
93.  “Any one become a good citizen of his/her country, must read and write the statistics

in his/her life” — by

G BILgd HPHs G4lsas  allarhELd gaQeurmaumd  eTeTpIeIg, @  [BIeET
Lgriudeid  erpgeudaid  yetafllwe  smihs aamarhsmer UwarLusHCL s
Cauar(® b ererm Hlenew eu(hHd eTend sadluieui.

% H.G. Wells (B) J. Bernoulli
oré. 29 Gaueav Qgg. QuirGarmed
(C) P.D. Laplace (D) J.F. Baron

19.1q.. Gavtiemav Qgg.eTu1. LIy

94, Which of the deterministic phenomenon result can be predicited with certainty?
(pensal g Cw Hapaismen sadlés @udeagh@ Guwi earer?

(A) Mutually exclusive Jgf Probability theory
garanpGwray edas@d Hlapsssar Hlapsaeiive

(C) Exhaustic event (D) Complementary event
Heop Qawed Hlapedladr Bl Hapeslser

95.  Which year normal distribution was discovered first
Wpaapsailer Guablaa LiTele ser 1N g S L 68 (H

w7 1133 (B) 1774

(C) 1809 (D) 1700

96.  Data can be stored in the table and coloumn 18
gra|seer &L L LD HDID i Leuamansefile Calls@h Bl erg ?

Microsoft Excel (B) Dash Board
aw&CrraTiil r&6lFd Qs deny
(C) Note Pad (D) Comma Separated values
©_GnIyLILITEHT srhLerell Ceupnafiumesr
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97.  Which of the following diagram is used for the compare of the different type of data?
Spsnaruepile uoGeum elgLnar sra|smar UL LweTuHIb euerULLD 6Tgl?

M Bar Chart (B) Historgram
Ul enl eSleTdasliuL b ureue Gseueus efleTdsLiLL LD
(C) Line Chart (D) Pie Chart
aufl eferdgl LD el L elleTds&sliuL LD

98.  Who is known as the father of vital statistics?
Qoo @ouy upPlw e wifleaurer Leteflulwealer sheng wr?

/(Agf William Farr (B) Casper Newman
adlevedlwitb Ly Gaevui hluy,6lner
(C) Dr. Price (D) Sir William Petty
LmésLii. Menyev it eflévedlwid Gl ig

99. Joining the plotted points by means
Hr LBl nul L yereflaener @evantiiLig QuT(heT eretre ?

(A) Bar Chart (B) Boundaries
eul_L eSlerdaLiLL_Lb GTELEMN Q&ET

(C) Scattered ) Straight line
fgmed LILLb CrrGam®

100. Poission distribution was discovered by
UMLIETET Ljeueney seirLHlbseurt Wi ?

(A) J. Bournoulli (B) P.D. Laplace
Qgy. QuirGermed) 9.14. Cavtimeh
(C) De-Movire Simeo Denis Poisson
14 @). @wmif agwer GLaflev LmusTe
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